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Instructions
Answer all questions.
“All questions carry equal marks.
In this booklet, the questions from

. serial no. 1 to serial no. 10 are related

to general awareness while questions
from serial no. 11 to serial no. 70 are

- subject. specific.

Each question has four alternatives

~marked as (A), (B), (C), (D).

Choose only one alternative as an
answer of a question.
If more than one answer is marked,

then it will be treated as wrong

answer.

Candidate has to darken only one circle
indicating the correct answer on the
OMR sheet by using BLUE/BLACK
BALL POINT PEN. _

There is no provision of Negative
marking. ' E
Carrying Mobile phone
examination hall is strictly prohibited.
If any objectionable material is also
found, then action will be taken as per
University norms.

10. Please fill your Roll No. and other

11.

information carefully on OMR sheet.

- In case of any mistake on OMR sheet, -
candidate will be responsible.

If there is any difference between
English and Hindi version of questions,

" then English version shall be correct.
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1.  Which of the following is the lightest | 1. f/=1 & & HITH T TR g

" metal ? | I | '_,%,7

(A) Mercury | - (A) 9T
(B) Lithium | - - (B Fﬁﬁm‘
(C) Lead R (C) @
©) Siver (D) =

» 2. The oldest oil refinery in India is | 2. wwa # w A A ﬁq;mﬂ L

at: - | | | - fem 3
(A) lj‘igboi, Assgm | o - (A) %‘T@?, 311“31‘1 |
(B)> Hah;lia,‘ near Kolkata N (B) '{fﬁ'&ﬂ; Ezblm ® U9
(©) Koyali, near Baroda . (C)A ﬁ"’k‘vﬁ, A % W
®) Noonmati, Asssm |  ® Weﬁamm
3. | RK. Laxman is a fenowned N I '.'STR;% am; T 2l
: (A) Dance Mastér ] o (A) 7[6’1 ’H‘H'IZ
(B) Writer - | @)
(C) Journalist R (©) TR
(D) Cartoonist - ] D) W

22-Geog. \ B 3



4. Who wrote ‘Communist Manifesto’? | 4. * ‘&= feQ’ fHay faet & ?

(A) Lenin = | (A) ﬁﬁ‘-[

(B) Stalin B ] ®
(C).Ka;'l Marx B (C) Wl Wl
(D) Weber ‘ | (D) IR
5 Find.th; correctly spélt. word : ' 5. W& T A K aﬁ@iﬁq
~(A) ITINARERY N : - (A) ITINARERY
(B) iTiNERAR? |  (B) ITINERARY
(O) ITENARY =~ | (C) ITENARY.

(D) ITINARARY | (D) ITINARARY

6. Choose the opposite of |6. INDUSTRIOUS %1 fasin 3¥1q

INDUSTRIOUS : I

(&) Indifferent - (A.)A Indifferent
(B) Indolent " o (B) Indolent
(©) Casual-i ‘- | (C) Casual
(D) 'Passivé o - D) Passivé’

- 22-Geog. ' 4



7., Choose -one word for the below.

sentence :
One who is‘ not. easilj bleas__ed by
anything.
" (A) Maiden
v(B) Mediaeval
(C) Precarious

(D) Fastidious

-mark ?

‘lBGl'—Ic#J-—-.-IDEI—-—IEDI——chl,—..
@ A -
(B) K
©B
® L

22—-Geog.

3.  Which letter replaces the question

ﬁww%fmmm&zﬁﬁﬁ :

>'0n>e who is not easily pleased by

anything.

(A) Maiden

- (B) Mediaeval

(C) Precaﬁous' '

(D) Fastidious

P IR g (?) % WA W

e 2

ey v v O
(A) A

. (B) K
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10.

Nageena is taller than Pushpa but

not as tall as Man‘is'h. Rama is

taller than Namita but not as tall |
as Pushpa. Who among them is \

tallest ?

(A) Manish

(B) Pushpa

(C) Namita
| (D) Nageena

If BAT is coded as 283, CAT is coded

as 383 and ARE is coded as 801,

then the code for BETTER is :

(A) 213310

(B) 213301

(C) 123301

(D) 012334

" 22-Geog.
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1L A broad channel where the waters -
‘ of "a river and a sea mingle is |
'called":

(A) A delta

(B) An estuary |

12..

(C) A harbour

: ‘(D): A strait

Which of the following is a

metamorphic rock ?

(A) Gneiss

. (B) Granite.

. (C) Coal

13.

(D) Limestone

Who gave the term ‘Primordial-

Matter’ in his hypothesis ?

(A) Kant

-(B) Laplace

(C) James gfeans

(D) F. Hoyle

22—-Geog.
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14. Relative humidity refers to :

15.

(A) Absolute amount of water
Vapour in the atmosphere
B) The amount ‘_ofﬂ hygroscopic

nuclei in the atmosphere
(C). Saturated vapour pressure

(D) Rate of actual amount of
water vapour in the air to the
amount it could hold at that

temperature

Which one of the following pairs is

not correctly matched ?

(A) Santa Ana — South California
(B) Harmattan — Sahara desert
(C) Gibli — France.

(D) Blizzard — Siberia

22-Geog.
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16. Which one of the following is | 16. famfafem & |/ =tvwr & ¥t

vco’rrectly matched ? | gafem & 2

_.(-A) Prairies — .Austljaiia - (A} Tl — amfern
(B) \‘7¢ld _ Soﬁth Africa o | . (B) a@' — < 3191:\‘51"71
(C) bowns — S2>uth America (C) =¥ — <faft s
D) III’amv'pas- — North America | ~'(‘D) T — I aﬁﬁiﬂ

17 The theory of subsidence related to | 17. yaregy & fmiu ¥ wafya  saaeq

the formation of atolls was first fag=' % g?:m‘ yfauRs & iv

propounded by :

A ®
(A) Murray

(B) rmfEst
(B) Agassiz »
o . ©€) ¥R
© Semper ~

D) fE
(D) Darwin :

22—-Geog. ' ‘ 9



18.

19.

20.

' 22-Geog.

Whic}} of the following is not

correctly matched ?

- (A) Ghaggar — Dead river

(B) Bhorat — Plateau
(C) Nagpani — Aravalli Pass
(D) Ser — A;'avalli Peak

The districts most suitable for the

plantation of teak are :

(A) Bharatpur' and Alwar

(B) Srigahganagar and Bikaner
(®); 'Jal(;re and Sirohi

(D) Banswara and Udaipur

What are Vijaya and Bhagyam ?

(A) Mineral area of Jaisalmer

(B) Invented oil reserve near

Baithiya (Barmer)

(C) Gold reserve invented in the

area of Banswara

D)

Kho-Dariba area of Alwar
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21.

22.

- 23,

Which of the following is not

correctly matched ?

(A) Alania dam — Kota

(B) Kundali dam — Raj Samand

(C) ‘Sei dam — Bundi

(D) Gambhiri dam — Chittorgarh
Which is the oldest rail-iiﬁk in
Rajasthan ? |

(A) Jaipur — Sawai Madhopur .

(B) Dholpur — Agra_

(C) Bandikui — Bharatpur |

- (D) Ajmer — Khan&wa

In which region of Rajasthan

rectangular shaped rural settlements.

are mbstly found ?

- (A) Western Rajasthan

t (B) Central Rajasthan

(C)’ Eastern 'Rajasthan

(D) Northern Rajasthan'

22—-Geog.
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24. According to Census 2011 which

25.

22—Geog. o

. district of Rajasthan has maximum

sex-ratio ?

(A) Dungarpur

. (B) Bahéwafa_

(C) Udaipur
(D) Chittorgarh
If the map drawn to a scale of 1 cm

to 30 km is to be enlarged three

times, then representative fraction

of fhe enlar'ged‘ map will be :
(A) 1 : 1000,000
(B) 1: 3006,000'
(C) 1 : 6000,000

(D) 1 : 9000,000

12

24.

25.

2011 #}W%mmﬁa‘;
frw ot 4 sifuerem famga ® 2
A) IRE

(B) sfgars

(O TR

(D) fadreTg

31"T'{>1¢m=30kmm'q'—ﬁﬂ'{ﬁ

nﬁﬁamaﬁamﬁaﬁamm

aﬁaﬁ(ﬁﬁaﬁwﬁﬁamﬁﬁw
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(A) 1 : 1000,000

(B) 1 : 3000,000

(©) 1 : 6000,000

D) 1 : 9000,000



:26. - The contours merge and run as a

single line for a short distance 1n :

-

~ the case of a :
&) Knobe
(B) Cllff
.(C)kG’.Qrg:ev

(D) Re-entrant

27. What will be the correct R.F. if the _

‘scale is 4 cm to 2 km ? |
@ 1 :v» 50,000
B) 1 ';25,000
(C) 1 : 100,000

®) 1 : 75,000

22—-Geog.
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(A) =fs

B) e

(©) Tird
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Ak W 4 . g 2 Fe TR
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28.

29.

The formation of U shape valley is
due to :
(A) River

(B) Wind

(C) Glacier

(D) Undergrour;d water
Climograph ‘is prepared on the
basis of :

(A) .Averagé“monthly‘r temperature

and average monthly rainfall

(B)
- ration and average monthly

rainfall

(C) Average monthly wet bulb

temperature and average

monthly relative humidity

(D) Average monthly rainfall and
average monthly relative

humidity

22-Geog.

Average mOnthly evapotranspi; '
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(A) & g™
(B) &1 §NI
(C) femrit gr

(D) yfema s g
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- 30. The length of one link in Gunter’s | 30. =X {9 § UH FI H T=E

chainis : | ¥
~ (B) 7.92 inch B 79298
(C) 8.35 inch o
v : (C) 8.35 39
(D) 6.85 inch .
o - (D) 6.85
" 31. Name of the profile representéd‘by - - | '
N 31. fufe Y@ g weftla Rk ®
~sky line is : A :

o (A) amlmﬁa
(A) Superimposed S
| (B) T#H -
(B) »Serial . ,
o | © Mwm
(C) Projected :
(D) fast

(D) Cdmpogite o
32. WS @ USR e ¥ .

32 Brazilian Plateau is \f‘ich in :

@ Petroleum ] w e F
® Copper - e ot
(©) Nickel © FEad
| D) Tron '.ore | | D) & s i
| 22—Geovg_. o 15 ‘



33. Hawaii island is an important | 33 o gy fava @1 & gea < Fraf®

exporter of sugar in the world. It is

g9 ¥ ouE e ¥ :

situated in the : . ,
| (A) Tl wora TeEEER @
(A) Southern Pacific Ocean |
(B) 3T WITG WEMETR H
(B) Northern Pacific- Ocean ' '

: - (C) ST SwifF WEEER
. (C) North Atlantic Ocean ‘ .

(D) South Atlantic Ocean D aﬁWﬁ_ S . TR

34. Which typé of soil is found in the | 34 RAURIE EFTT @ &% # T SN m

areas of north conical foregts ? o fad % - |
(A) Trop_icall l;e;i sc;il - A) SRfrse e et
(B) _Latérité soil (B m frzd -
(C) Podzol soil - o | (© tﬁzsﬁaﬁm’r
(D) Cilemozen soil | D) %{’h‘ﬁ fazdt

22-Geog. o ' 16



35. Which is the correct sequence of the | 35. frafafen wr werghdi & SRS
following fou? countries in ascending | = STHR W Wl FH ﬁ T
order of their population ? | &>
(1) ‘North America - | o ﬁ'ﬁ sfiat
@ Africa | o .(2) TFH
@ South Ameriea | 3) < s

@ Burope. | | B
_ 'Sgleg:t the correct answer using the Bk ﬁ'a .11'& Hehal %} 311%11'{ W® ‘Gﬁ
codes ‘given below : o W B T A
@ o.mwe | we (1),»(4‘), @)
®0o,60 a (13»)'_(1'),'(3)’, @), @
© @O, 6,@ | © @, ®, 0
® @), @), @), @ | oo @, @), @

22—Geog_. ‘ 17



36. Blue revolution is associated with | 36. et sifd, f5@ IR ¥ T ¥,

the production of : T ¥

(A) Indigo | | | (A) H"TE
B) Viticulture o | (B) 3R
(C) Sericulture | - | © xm
(D) Fish - (D) =

37. Most rubber plantations of the world | 37. ﬁva & 3ifyemie R =yH 59 =9

 are located in : | | qferd 8, 9@ T
(A) Taiga region | | @
(B) Tundra region | | (B) TG WeW
V(C) T_emperéte‘ region (C) vﬂ??rwr W
éD) Equatorial region (D) e R

38. Who used the word probabilism 2 | 38. AR I F1 Wm e o 2

(A) A.J. Herbertson ' (A) T WITT
(B) Elsworth Huntington (B) segad gfame
(C) O.H.K. Spate (© N @

(D) Grifith Taylor . (D) fuftee e
22-Geog. | 18



39.

40.

- 41.

Achuwa is associated with :

(A) Bhil tribe

" (B) Bushman

(C) Eskimo

(D) Pigmies

.Who was the chief exponent of

the concept of env1ronmenta1

determinism ?

(A) Alfred Hettner

(B) Robert Gradmann

(C) Friedrich Ratiel

(D) . Richthofen

Which pair is not correct ?

Races Habitat
(A) Negro Sudan and
Ghana
(B) Mediterra‘m_aan‘ Arab and -
| " Portugal
(C) Nordic -V-North
‘ ' - Europe
(D) Mongolians Brazil and
| | Nigeria

- 22—-Geog.
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- 42.

43.

“The Pulse of Asia’ is the work of :
(A) E. Huntington

(B) Jean Brunhés .

(C) LD. Stamp’

(D) Demolins

‘MAUPOK is :

(A) A way of hunting is used in

Eskimo |

(B) A boat, used by Eskimo

(C) A tent, prepared by Bushman

(D) A way of cultivation practised

by Gonds

Settlement found along the railway

line is known as :

(:A), Compact settlement
(B) Linear settlement
(C) Dispersed seftlement‘

(D) Semi-compact settlement

22-Geog.
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- 42.

43.

44,

‘The Pulse of Asia’ Ffd ¥ :

(A) 3. gf&re =t

(B) S gw =t

©) W om w|

(D) ferife=a =t

EC

(&) T gu R § v R

el whsea

(B) TR=H g WgE &

(C) Twi gw Fafifa g

D) s g F T AR B
R | v

YR T % R T T T A

e ¥

(A) TgF fyE™

(B) @Y. fyarg
(©) vl s

(D) SE-Tgaa vaTa



45. Best diagram to i'e}iresent'- 45, =awfaw twg H mﬁm g

meupétipﬁgl data is s | | B iﬂﬁ'@. %
(A) Wheal‘ ,' - . | (A) aaﬁ'q
(B) Bar ' : - g ‘. ’(B) 3ug

(©) Sphere | . | ©

@) Pyramd - | (@ fafe

46. Suitable method for showing | 46'. TOERE WER W ST TS R

opulation density according to ’ | o o
PoF d T & x Twiy # Sugw fafu ¥ ;-
| administrative unit is : o B
" i (A) T Y@ T

- (A) Isopleth

| (B) ®riifes wrAfas
(B) Chorochromatic '
| _ (Cy ot wrfas
(C) Choropleth ‘
(D) fag tmf‘aa

-(D) Dot map

22-Geog. - 21



47.

48.

In values 80, 67, 25, 72 and 19 the

value of median is :
(A) 53
(B) 67

(C) 45

D) 72

Which one of the following

statements is not correct ?

(A) Isopleths are lines of equal

value

(B) Contour maps are known as

" isopleth maps

© _The use of isopleth is unlimited

(D) Isopleths can show temperature,

pressure and rainfall distribution |

22-Geog.
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47.

48.

€3 ™ I 80, 67, 25, 72 W@ 19 H
wrfwan w1 T /M |

(A) 53

(B) 67

(C) 45 |

D) 72

frefafen § @ FAE ™ FU w9

e ?

(A) T Y gue e At e

&
(B) werew Yen WA M Y
(©) wm-%@aﬁmw‘mﬁha%
(D)W%@aﬁﬁm,mqé
L fa'am yefyfa. feam =

Hwdl ®



49. Graphical met‘hod.‘to find out

50.

' (D) Normal curve . Ty,

mode is :
(A) Histogram
(B) Ogive curve

(C)»' Lorenz ‘c’urve

In the inetric system of Séales, the
scale of topographical survey sheet

no. 45E is :

(A 1: 50,000

22-G'_eog.

(B) 1 : 100,000

- (0) 1:200,000

D) 1 : 250,000

23

49. 9EIF I@ HW B wAtaErg fafa

50

-‘ (C) 1:

O 1:

B
(A) sr
(B) dRW =

(C) &R =%

D) T T

: ﬁ@ﬁm%m.ﬁwaﬁ;wﬁfﬂ

Fe 45 w1 A9E B

15
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B) 1 : 100,000

200,000

250,000



51.

52..

Which one of the following is not

true about Singapore, the smallest |

country in Southeast Asia ?

(A) Has no natural resources

(B) Has the highest per capita

A\
income in whole of Southeast

Asia

(C) Has non-strategic location

(D) Has well-educated population -

Which one of the following regions

is called as ‘rust belt’ of Japan ?

(A) Northern Honshu
(B) Southern Honshu
(C) ’ Shikoku Islands

(D) Kyushu Islands

22-Geog.
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51.

52.

fai-ge e @ wER @ 2w

R R i et § @7 v

e ?

(&) P Tt waE T E
(B) ® ?:f&wﬁ—q\a?tﬁm d gl

(C) amwﬁaﬁﬁqﬁram%ﬂ%

_(D)WMA@—W% _

Frefafan § 3 = w0 ¢
A A ‘rust belt’ B '—rm ¥ N
I ? |
(A)ﬁﬁﬂ’g‘\

(B) <hh Wy

(©) fwmg g
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53.

- 54.

55.

‘The Mount Everest falls along the

‘natural boundary between :

(A). India and Nepal_ )
(B) India and China -

(C) lNepal and China

(D) Pakistan and China

The most important production of

good grain in Asia is :

" (A) Wheat

(B) Rice
(C) Maize

(D) Bajara

Temperate grasslands in Asia' is

known as :

- (A) 'Sfeppes

(B) Prairies

() Vélds'v

(D) Downs

22—-Geog.
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- 54.

55.

TR ydq &1 fofq fra S it & o
THfE ® WY %
(A)(‘ YR w Aqe

(B) WRd T W

(C)‘ et w9

(D) wifhEa™ & <A
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A) T

~(B) =@

©) T
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(C) Fe=
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56. Which one of the following countries | 56 fafafeg ¥ @ feg 2y § GFR?@T F1

has the maximum population _
“ ' POPUZ U qaitus § 2 .

density in Asia ? _
- (A) W@

(A) India
(B) ufwsmm
(B) Pakistan -
| - (C) "FERY
.(C) Bangladesh o

(D) China (D) | Rl

';57.Wm2011’$awmﬁm@

57. As per census 2011 the lowest rate

of literacy in India occurs in :

FT T R T E

A) R‘ajasthan' | B (&) T
(B) Arunachal fradesh R emnaa =
(©) Mé;ihya Pradesh © W
fD) Assam o ) T F

22 Geog. % o



58.

59.

60.

Which one of the following Indian

States has the longest coastline ?

- (A) Maharashtra

(B) Tamil Nadu

©) Kamata‘ka:

(D) Andhra Pradesh

Noonmati Oil Refinery bf-India is
located 1n :

(A) Bihar

(Bj Mahara'shtra

(C) Assam

(D). Kerala

Which one of the following ﬁvérs
oﬁginates from Amarkantak ‘?
(A) Mahanadi |
(B) ~Nanna<ias S
(C) Son.

(D) Godavari

22-Geog.
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58.

59.

frafafea # ¥ =@ wRa =1 W@ T
t el v et W @ Y ¥ 2

(A) HERTS

(B) dfterrg

(C) wfeh

(D) I W

fega ® | |

(A)ﬁ;rsﬁﬁ :

(B) WeRT H®

" (C) smam ¥

60.

@) F@ 7
Preafoferm 3 & w7 e @

."(B) e
(© W

D) e



61.

62.

63.

With which mineral is Bailadila
associated' ?

(A) Ironw ore

(B) Coal

(C) Manganese

- (D) Micd

Néw Industrial Policy in India was

“announced on :

(A) 15th August, 1991

‘(B) 2nd October, 1991

(C) 24th July, 1991
(D) 26th January, 1991

According ‘to P.. Seri 'Guptanwhich
one of the following is not a part of

resource region of India ?

(A) Great Himala'yan Régiqn .
(B) Plateau and Hillé bf Meghalaya
(C) North Great Plains

(D) Western Coast

22-Geog.

61.

62.

63.

serteen f7e @fe v ¥ gt
_— » .

(A) Ag-E

,(B)m'
() e

D) A9+

wra # 7 sl AR w s

o

(A) 15 7T, 1991

(B) 2 &R, 1991

(©) 24 gvné 1991

(D) 26 S, 1991

W, T & g Frer @ w
on e e A 8 7

&) ferem e W

- (B) ®uerd #1 YoR T weitgdl

(©) SR fawe e

28 -

D) wfad @2



64.

. 65.

86

© ‘Mollweid.e’s

In which of the following ;pola:_'r

zenithal projections equator is not

‘shown ?

(A) Stereographic
B) Ofthographic

(C) Gnomonic

(D) Homolographic

‘Which of the following projections is

equidistant on 45° latitude ?

. (A) Gall’s

(B) Mercator’s .

(D) . Natural cylindriéal

In which kind of surveying do we

get the ‘closing error’ ?

(A) Plane table

(B) Prismatic compass

(C) Chain and tape

D) Clinometer'

- 22-Geog.
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64.

65.

66.

frafafaa 3 @ fem gy @ v

| L qHERET H & wefila fopan

S ?

(A) @meE qEEdt

: (B)’ araaﬁvﬁw U

(C) 3T T

(D) WWW | _
ﬁwraraawmmwwam'
m‘a@!ﬁ%? |

S(A) TR

(B) m%zt f
(C) maa”‘rs'

;(D> wfaw %ﬁﬁm

o e # Wi 3 et e’

Bt ¥ ?

A) @ 3@
(B)- ﬁvﬁﬁa? Y

(O at'laqaqﬁm
(D) 'ﬂsﬂrﬂa-



- 67.

68.

On which projection. North Pole

- or South Pole is projected as a

point ?

(A) Simple conical with one

standard parallel

(B) Polyconic

Bonne’

©)

(D) Simple conical with two

star‘ldvard parallel

The EOS (Earth Observation

| Satellite) program was started in :

(A) 1989
(B) 1990
(C) 1991

(D) 1992

22-Geog. -
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67.

68.

=1 9§ ¥ ffg wdg W S0 g g

el ym T fag F wE Wi o

%2

(A) T& HFE ALY ren T
YFTHR

(B) wgeiw®

(© W

(D) ﬂ HqH ém_fn T WL
EOS xﬂm e g o

(A) 1989 .

(B) 1990

(©) 1991

(D) 1992



69.

" (A) Circle

70.

~ (D) Cylindrical

22-(eog.

Most suitable diagram for showing

(C) Bar

~ line is shown as a straight line is :

~ (C) Mercator’s projection -

more variation in population of

urban centres : .
(B) Ring

(D) Sphere

The projection in which Loxodrome

(A) Siinple cylindrical equal area
projecfion

(B) Bonne’s projection

equidistant

projection

31

69.

70.

e § T ST e ¥

@«

B) T

(C) T

D) T
o et 7 S (TR

e Yar) T A Yar @ weRha

ﬁFZlTGﬂﬂT%,Tﬁ'%

(A) TERY FRERHE SEER FA
(B) e ELE

(C) WA &Y

(D) AR W T W



Space for Rough Work
wed wd & fou we
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